A & 0l & A

20229 =& 3 3l JIEtSEAH A (&)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
5 Al 50,159,516 46,854,811 3,304,705 7.05%
ALY 42,815,823 41,051,118 1,764,705 4.30%
HWegs 7,307,982 5,767,982 1,540,000 26.70%
HE2HZH 35,711 35,711 0 0.00%
g 39,162,074 36,070,050 3,092,024 8.57%
ot - =2 39,162,074 36,070,050 3,092,024 8.57%
g2 2 AEH s 9,048,004 8,797,513 250,491 2.85%
AT A (4T AL ESESA) 9,048,004 8,797,513 250,491 2.85%
ot=2 HI X 28,619,914 27,078,381 1,541,533 5.69%
S-S AL (Gt ALS SESIH) 4,189,784 3,710,243 479,541 12.92%
=ENEAMG (=EIHLES 3 H) 24,430,130 23,368, 138 1,061,992 4.54%
Heegs(=cAda) 1,494,156 194,156 1,300,000 669.56%
SBENE(=ENLEESH) 1,494,156 194, 156 1,300,000 669.56%
INIE=PN 210,408 210,408 0 0.00%
JZdEEd 134,885 134,885 0 0.00%
NASS dgotd X2 134,885 134,885 0 0.00%
odz=0 XN (d=2S0HSE3AH) 134,885 134,885 0 0.00%
HAEAHEXNH 75,523 75,523 0 0.00%
Hegs(Fasx) 75,523 75,523 0 0.00%
BEINE(YAEZS0HSEAH) 75,523 75,523 0 0.00%
A - ZSAIG LUK 4,380,241 4,378,840 1,401 0.03%
MHAES - DD 4,380,241 4,378,840 1,401 0.03%
NAgduE 11,938 10,537 1,401 13.30%
NAgEoie RE(NALHSE3A) 11,938 10,537 1,401 13.30%
Heas (2 4,368,303 4,368,303 0 0.00%
HWEAHHX S (M2 SE3) 4,368,303 4,368,303 0 0.00%
nsE=F 610,589 608,589 2,000 0.33%
sns - =25/t 610,589 608,589 2,000 0.33%
wSHA = 610,589 608,589 2,000 0.33%
FUNEMNESEIAN (=S ALSLESIA) 610,589 608,589 2,000 0.33%
SEYXNGNY 5,760,493 5,551,213 209,280 3.77%
KNS LAl 1,842,634 1,602,634 240,000 14.98%
A2 HAAEY 472,634 472,634 0 0.00%
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